@ trovaprezzi.it

NZXT

H210/H210i

MINI-ITX CASE

Questo manuale d’istruzione e fornito da trovaprezzi.it. Scopri tutte le offerte per NZXT H210 o

cerca Il tuo prodotto tra le migliori offerte di Case e Alimentatori

POWERED BY

NZXTcav

| N

EXPLODED VIEW

1

10

CHASSIS

FRONT I/0

CLEARANCES AND SPECIFICATIONS

VISTA EX’PLOSI’ONADA 2 M!EDIDAS Y ESPECIFIC’ACIONES Motherboard Support Mini-ITX MoanepKa MaTepUHCKOM nnaTh : Mini-ITX
VUE EN ECLATE 11 DEGAGEMENTS ET SPECIFICATIONS 2.5” SSD Support 3+1 AnA TBePAOTENbHBIX HaKonuTenei 2,5" 3+1
TOP EXHAUST FAN A 3.5”HDD S rt 1 1A KECTKIMX INCKOB 3,5" 1
EXPLOSIONSDARSTELLUNG SSD BRACKET ABSTANDE UND TECHNISCHE DATEN . 'L Suppol A A -
VEDUTA IN ESPLOSO 3 SPAZI NECESSARI E SPECIFICHE g;%a&slon Slots %87 g::::";'ﬁﬂpf;;”d;"ﬁ‘:”cﬂ’ém P %87mm
P A earance mm
VISTA EXPLODIDA B TOP RGB LED STRIP (H210i 12 DIMENSOES E ESPECIFICAGOES Cable Management 15.9mm OpraHu3aLVa KaBembHbIX CUCTEM 15.9mm
TPEXMEPHOE NPEACTABJIEHWE OETAJIEN TEXHUYECKUE XAPAKTEPUCTUKU N 3A30PbI g
g i CPU Cooler Clearance Up to 166mm Kynep npoueccopa Up to 166mm
e 4 SVIART DEVICEV2 (210D aaAs 7 Front Radiator 60mm Mepearuit paauatop 85mm
B R & AR
B9 R E REAR EXHAUST FAN 18 BE 5 M 1% Placas base admitidas Mini-ITX O EE X2 Mini-ITX
B 44 5 R ) 13 5 B £ 3 1% Unidad de estado sélido de 2,5” 3+1 2.5" SSD 3+1
5 Unidad de disco duro de 3,5” 1 35" HDD 1
SFX PSU BRACKET RIGHT METAL PANEL Ranuras de expansion 2 SHY X 2
Distancia de seguridad para GPU 287mm GPU 2tA 287mm
6 14 Administracion de los cables 15.9mm ﬂlo\%gxc;ﬂ EJS-ergG
Disipador de la CPU Up to 166mm CPU 22 pto 166mm
PSUDUSTFILTER FRONT COOLER BRACKET Radiador frontal 60mm 4% 2te|of ol E 60mm
15 Cartes mére prises en charge Mini-ITX XY —R—FHR—b Mini-ITX
FRONT DUST FILTER gi%&fs durs 35" gli+'| %.g"asl:)DD"Lﬂ'\— |"~ ?+1
ies d' i IHRNYYavRAY R 2
210MM 372MM Baies d'extension 2 s
7 Longueur du GPU 287mm GPUZUT SR 287mm
LEFT TEMPERED GLASS SIDE PANEL 16 Gestion du cablage 15.9mm T=IIV0ER 15.9mm
FRONT BEZEL °Co® [y Radiateur du processeur Up to 166mm CPU'7—7j'7U77‘/Z Up to 166mm
- Radiateur avant 60mm TaVESYI 42— 60mm
8 . Motherboard-Unterstiitzung Mini-ITX EZea Mini-ITX
ekl 2,5-Zoll-SSD 3+1 2.5"SSD¥§5 3+1
SSDTRAY - 3,5-Zoll-Festplatte 1 3.5"HDDXH 1
9 17 g%% Erweiterungssteckplatze 2 o 2
e GPU-Abstand 287mm GPU BB 287mm
CABLE BAR GPU STAND o RS Kabelverwaltung 15.9mm SGHER 15.9mm
s | © CPU-Kiihler Up to 166mm CPU Bi#ERIEEE Up to 166mm
D i ;%% = Vorderer Kihlkorper 60mm BIEARS 60mm
o . : .
1. Chasis 1. Chassis 1. Gehause 1. Chassis 1. Chassi 1. Kopnyc 1 MA| 1. ov—2 1. A58 1. B e gg%egasmadre SHPRONats 2/1_:_'1“ ITX Zzs*gsﬁszggﬁ}% gﬂlql X
2. Ventilador de escape superior 2. Ventilateur en extraction du haut 2. Lufter fiir Luftauslass an Oberseite 2. Ventola di scarico superiore 2. Ventoinha de exaustéo da parte superior 2. BepxHui BbITAXHON BEHTUNATOP 2. MEFHYZ|H 2. by THEET 7Y 2. IEBHFSS 2. JaEEEEE R %%% HDD 3.5” 1 3.5"HDDIE 1
3. Tira LED RGB superior (H210i) 3. Bande LED RVB du dessus (H210i) 3. RGB-LED-Streifen an Oberseite (H210i) 3. Striscia LED RGB superiore (H210i) 3. Tira de LED RGB da parte superior (H210i) 3. BepxHsa ceeToanopHan neHta RGB (H210i) 3. AEHRGB LED 2 E 2 (H210i) 3. hv 7 RGBLED ARJw (H210i) 3. J0ER RGB LED XI5 (H210i) 3. JE30 RGB LED J&1% (H210i) i All '.d’ i 2 ﬁgﬁp 2
4. Ventilador de escape trasero 4. Ventilateur d'échappement arriére 4. Lifter fiir Luftauslass an Riickseite 4. Ventola di scarico posteriore 4. Ventoinha de exaustao traseira 4. 3afHWi1 BLITAXHOI BEHTUNATOP 4. ZH 7| 4. )T7HET 7Y 4. FHSE 4. BHHRES Nz e S Oggl espanSI_onell GPU 287 GPU %EE 287mm
5. Soporte de la PSU SFX 5. Support du bloc d'alimentation SFX 5. SFX-Netzteilhalterung 5. Staffa alimentatore SFX 5. Suporte do PSU SFX 5. KpoHwreitn 6noka nutaHna SFX 5. SFXPSU 2ef2l 5. SFXPSU 754wk 5. SFXPSU 222 5. SFX EIR{HEMERRZ2 = = e Gpatz_lo neé:e_ssar!o 8la 15 gmm SEEE 15.9mm
6. Filtro de polvo de la PSU 6. Filtre a poussiére du bloc d'alimentation 6. Netzteil-Staubfilter 6. Filtro polvere alimentatore 6. Filtro de p6 do PSU 6. MbineBoit punbTp 610Ka NUTaHMA 6. PSU HX| ZH 6. PSUZRNT1)LR— 6. PSU Brl it iges 6. ERMHEZRIE @F{ 2N iy D_es 1one ec;_cavll CPU U .tm1rgs Epﬁ BRI Up to 166mm
7. Panel de vidrio templado lateral izquierdo 7. Panneau latéral gauche en verre trempé 7. Hartglasfenster links 7. Pannello laterale sinistro in vetro temperato 7. Vidro temperado do painel lateral esquerdo 7. JleBas naHenb 13 3aKaneHHoro cTekna 7. 5 Zot 72l Aol = 1Y 7. YA RIEAZ RV 7. EMMEIEIER 7. ZRRERIBER J ngz;z?;eﬁ;:tzge GEm(:‘n mm AR GSmm
8. Bandeja unidad de estado sélido 8. Plateau SSD 8. SSD-Fach 8. Cassetto SDD 8. Tabuleiro de SSD 8. JIOTOK A TBEPAOTENbHbIX HaKonuTenel 8. SSD E2{ 0| 8. SSDhLA 8. SSD &z 8. SSD %2 TR
9. Barra de limpieza 9. Barre pour la gestion des cables 9. Reinigungsleiste 9. Barra di gestione dei cavi 9. Barra de limpeza 9. Maensb Clean sweep 9. 7l0]= Fe| vt 9. 7')T71%}§§ 9. BBHRUMR 9. EZiRtEtR Placa-principais suportadas Mini-ITX
10. E/S frontal 10. E/S avant 10. E/A an der Vorderseite 10. 1/0 anteriore 10. E/S frontal 10. Pasbembl cnepeau 10. & 1/0 10. ZA> K 1/0 10. Al 1/0 10. 175 1/0 SSD de 2,5" 3+1
11. Soporte para SSD 11. Support du SSD 11. SSD-Halterung 11. Staffa SSD 11. Suporte do SSD 11. Kpennenne SSD-Hakonutens 11. SSD 2242l 11. SSD 754wk 11. SSD %2 11. SSD 2R HDD de 3’5-- 1
12. Dispositivo inteligente V2 (H210i) 12. Smart Device V2 (H210i) 12. Smart Device V2 (H210i) 12. Dispositivo intelligente V2 (H210i) 12. Dispositivo inteligente V2 (H210i) 12. WntennektyanbHoe yctpoiicteo V2 (H210i) 12. A0HE & X[ V2 (H210i) 12. AR—FF/\A A V2 (H210i) 12. EEEIRE V2 (H210i) 12. BEEE V2 (H210i) Ranhuras’de expansao 2
13. Panel metalico derecho 13. Panneau métallique droit 13. Seitliche Abdeckung rechts aus Metall 13. Pannello destro in metallo 13. Painel de metal direito 13. Mpasas MeTanaMueckas naHenb 3. 25 HE o 13. B FB/N\RIV 13. Al£ENR 13. AflEEER Folga paraa GPU 287mm
14. Soporte del refrigerador frontal 14. Support du dissipateur avant 14. Kiihlerhalterung an Vorderseite 14. Staffa raffreddamento anteriore 14. Suporte da ventoinha frontal 14. KpoHwWTelH nepeaHeii cuctembl OXNaxaeHns 14, TE 22 Befzl 14. 7OV —5—=0Z7 vk 14. Ailm 2 g2 2R 14, AIFBIERERDR Gestdo de cabos 15.9mm
15. Filtro de polvo frontal 15. Filtre & poussiére avant 15. Staubfilter an Vorderseite 15. Filtro polvere anteriore 15. Filtro de p6 frontal 15. MepeaHuit Nbinesoit puabTP 15 P HX| EH 15. 7OV RN )L2— 15. RilmRARREE 15. AiABhEEERA Dissipador de CPU Up.to 166mm
16. Bisel frontal 16. Cache avant 16. Einfassung an Vorderseite 16. Smussatura anteriore 16. Moldura frontal 16. MepepHas pamka 16. T EH HIE 16. 7OV ¥V 16. B 16. AIER Radiador frontal 60mm
17. Soporte de la GPU 17. Support du GPU 17. GPU-Stander 17. Supporto GPU 17. Suporte da GPU 17. MopcTaBka AnsA rpaduueckoro npoveccopa 17. GPU ARHE 17. GRURARV K 17. GPU %22 17. GPU £ &
A. Tornillo hexagonal de 6-32 x 6 mm instalacion de la fuente de alimentacion A. BUHT WIECTUrpaHHbIit 6-32 X 6 MM YcTaHOBKa NCTOUHIKA NUTaHWA ( ') CONECTORES D_E VENTOINHA - Trés conectores de ventoinhas para trés canais. Para conectar ventoinha adicionais, utilize os divisores
AC C E S S 0 RY B OX B. Tornillo de 6-32 x5 mm instalacion de la placa base e instalacion de la unidad de disco duro de 3,5" B. BUHT 6-32X 5 MM YCTaHOBKa MaTEPUHCKO/! NNaTl, YCTaHOBKA KECTKOTO AUCKa 3,5" S MART D EVI C E V2 H 2 1 0 1 PORTS para ventoinha incluidos. ) _ o . _ o . _
CAJA DE ACCESORIOS C. Tornillo M3x5mm insta:acién getla unitlia: de disco duro de 2,5" C. BuHT M3 X 5 MM YcTaHOBKa XecTkoro aucka 2,5" DISPOSITIVO INTELIGENTE V2 FAN CONNECTORS - Three Fan connectors for three channels. To attach additional fans, use the included fan splitters. gvovta:g)up;;;:;r;) conector de ventoinha com 4 pinos no divisor para ventoinha seré a ventoinha primaria. Nao misture ventoinhas
' D. Tornillo KBS x 10 mm instalacion del ventilador D. BuHT KB5 x 10 Mm YcTaHOBKa BeHTUNATOpa Note: The first fan connector with 4 pins on the fan splitter will be the primary fan. Do not mix PWM or 3-pin fans. . _ o . . L
BOITE D ACCESSOIRES E. Llave para separadores instalaci6n de la placa base E. Taeunbi kniow YCTaHOBKa MaTepUHCKOV nnaTel APPAREIL INTELLIGENT V2 Note: To most effectively use NZXT CAM’s smart Adaptive Noise Reduction, you should connect your CPU fan to the Smart Device. If you Nota: Para usar a redugao adaptavel de ruido inteligente da NZXT CAM, vocé deve conectar a v_entom.ha da CPU ao dispositivo inteligente.
ZUBEHORSET F. Brida para cables Administracion de los cables F. KabenoHbiii xomyT: OpraHMaLyA KabesHBIX CUCTeN SMART DEVICE V2 choose to do this, you will need to disable the CPU Fan warning in your motherboard’s BIOS setfings. Se vocé escolher fazer isso, sera necessario desabilitar o alerta da ventoinha da CPU nas configuracées BIOS da placa-mae.
SCATOLA DEGLI AQCESSORl G. Soporte de laGPU Instalacién de la GPU G. Moacraska AnA rpaduyeckoro npoueccopa YcTaHoBKa rpaguueckoro npoweccopa DISPOSITIVO INTELLIGENTE V2 RGB LED CONNECTOR - Two LED strips are pre-installed inside the case. Connect additional HUE 2 LED Strips via the end connector CON_ECTOR RG_B DELED - Duas fitas LED vém pré-instaladas dentro do gabme_te. Conecte outras fitas LED HUE 2 através do conector
CAIXA DE ACESSORIOS H. Cable multiconector Para panel frontal de placas base no Intel. H. Ka6enb-passeteutens [InA NoAKNIYEHIA GPOHTANbHOI NaHENH K MaTePUHCKIIM NNaTam C pasbémamu DISPOSITIVO INTELIGENTE V2 located on the top LED strip. To Connect Aer RGB 2, connect directly to the second RGB channel. localizado no final da fita LED do topo. Para conectar o Aer RGB 2, conecte-o duretamgnte a_o_seg_undg canal BGB. .
KOPOBKA C MPUHAANEXHOCTAMM I, Divisor del conector FrIPN) 5mm  Convierta un solo puerto de audio de 3.5 mm y 4 pol dosp dio de 3.5mmy3 polos He-Intel cranpapra WHTENNEKTYAIbHOE YCTPOWCTBO V2 POWER CONNECTOR - Connect to the power supply to power on the smart device, fans, and LED strips. CONECTOR DE ALIMENTACAO - Conecte a fonte de alimentagéo a alimentagéo do dispositivo inteligente, as ventoinhas e
o M AFE] B A I Pasbem 3,5 Mm Al HayWHIKOB Mpeo6pasoBaHme OHOTO 3,5-MM 4-NOMIIOCHOTO ayAMONOPTa B A1 3,5-MM 3-MOMIOCHBIX ayANONOpTa AOtE &K Note: Do not connect while PC is powered on. as faixas de LED.
;B il =gﬂﬁ_§}\ Y E standoff wrench == |~o—‘ Ve v Nota: Nao conecte enquanto o computador estiver ligado.
SE?;“% (3 = ) x1 ;‘ﬁ?ﬁi“ §TV/2\47\ 2 CONECTORES DE VENTILADOR - Tres conectores de ventilador para tres canales. Para conectar ventiladores adicionales, utiliza los
iﬁg @ A. Vis hexagonale 6-32 x 6 mm Installation de Ualimentation électrique A SZILHAL 632 X 6mm HUD IR MK ﬁugég v cables bifurcadores para ventilador incluidos. ] . ) . B Pasbembl BeHTUNATOPOB - TP Pasbema BEHTUIATOPOB ANA TPEX KaHANIOB. HT0Gb! MPUCOGAVHWTL AONONHATE/IbHbIE BEHTUNATOPE,
e B. Vis 6-32 x5 mm Installation de la carte mére, installation du disque dur 3,5” B. LA} 6-32 x 5mm OHG{ & E MX| 356t S2to|E AX| S LED CONNECTOR Notal: El primer conector de \{ent|lador con 4 patillas del cable bifurcador para ventilador sera el ventilador principal. No mezcle BOCMONb3ynTeCH Pa3BfTBMTeﬂbeIMVl Kabenamn fnA BEHTUNATOPOB (B KOMMNeKTe). )
C. Vis M3 x5 mm Installation du disque dur 2,5 C. LIAF M3 x 5mm 2581 E210|E A%| e ventiladores PWMy de 3 patillas. o o ) Mpumeuatme. Nepebivi 4-KOHTaKTHBIN pa3bem PasBeTBUTENbHOTO Kabens NpeAHasHaueH Ans OCHOBHOrO BeHTUnATOpa. He ncnonb3ayiite
D. Vis KB5 x 10 mm \nstallation du ventilateur D. LEAF K85 x 10mm o A%| e Nota: Para utl!l;ar !a requcmon qe ru!do adaptativa |ntel[gente de.NZXT CAM de la forma mas eficaz, debes conectar ellventll.a'dor dela PWM 11 3-KOHTaKTHbIE BEHTUAATOPbI HA OAHOM KaHare.
E. Cl6 pour entretoise S e BT D E ASlCOm 2kl oo e A% : CPU al dispositivo inteligente. Si decides hacerlo, deberas desactivar la advertencia del ventilador de la CPU en la configuracion de la MpumeyaHme. [InA MaKCMManbHO 3hdEKTUBHOTO MCNONb30BaHMSA UHTENNEKTYanbHO GyHKLM afanTuBHOro WymonoaasneHna NZXT CAM
A F Cableti F. Attache-cable Gestion du cablage F. #0|& Efo| #Ho|g Hal BIOS de la placa base. ) ) ) ) ) - . HeOBXOANMO NOAKMIOUNTL BEHTUNATOP LI K MHTeNNeKTyanbHOMY YCTPOIACTBY. ECAM Bbl pelumTe 370 caenath, Heobxoaumo byaet
Hexagon screw 6-32 x 6mm able tie G. Support du GPU Installation du GPU G. GPU A8hC GPU A%| . ;D.ONIE‘CTO(R:| LED lRGB - Dos tiras LED vienen prelnstaladaGs dentro ((ije lahcaja.lCtzjr]ecta tiras LEL‘I! HUE Zdadmlonlaleg‘ através del conector OTKMIOUNTb MPeAyNpeXxaeHye BeHTnATopa LIM & HacTpoiikax BIOS MaTepUHCKOI inaThi.
X6 x10 H. Cable multi connexions Pour le connecteur Front Panel de cartes méres non-intel H. 220|30t2 #0| 5 H oldl gF ool e F-If (MY oY) 60 8 milEs'tuaR%?EnAﬁlslrélli‘Eg ?ynerlgr. P‘ara lconTc;ar Aerz Bl?’ puedes hacerio l.lrectameln;g alsegundo Cla."a R F lad \ CeeTopmnopHblii pasbem (RGB) - BHYTpu Kopryca NpeABapuTenbHO YCTaHOBNEHDI ABE AOMONHUTENbHbIE CBETOAUOAHDIE MOOCHI.
/ I. Répartiteur audio jack 3,5 mm pour casque Convertissez un seul port audio 3,5 mm a 4 péles en deux ports audio 3,5 mm a3 péles I. 3.5mm 3| EAM 2C|Q M AZ2|E T 35mm 4 3 2C|2 ZEZ 2 712| 35mm 3 3 2L ZEZ B AN Lot 50 dCTI?ED CION - Conéctalo  la fuente de alimentacion para alimentar el dispositivo inteligente, los ventiladores y las MoakniounTe AONONHUTENbHbIE CBETOANOAHDIE Monochl HUE 2 Yepe3 KOHLIEBOI pa3beM, PacronoXXeHHbI Ha BEpXHEl CBETOANOAHO
iras de LED. g
%’ e Nota: No lo conectes mientras el PC esté encendido. nonocke. [inA nopknioueHma Aer RGB 2 NOAKI0UNTe HENOCPeACTBEHHO KO BTOPOMY KaHarny RGB.
FAN L PoweR/USe Pasbem nutaHus - YTo6bl BKIIOUNTL MHTENNEKTYanbHOE YCTPOICTBO, BEHTUNATOPbI 11 CBETOANOAHBIE NIEHTbI, TOAKIOUNTE UX K 610Ky
CONNECTEURS DE VENTILATEUR - Trois connecteurs de ventilateur pour trois canaux. Pour installer d'autres ventilateurs, utilisez les nuTanuA. MprumeyaHve. He nogkntovaiite, ecnu MK BKnioyeH.
A. Sechskantschraube 6 — 32 x 6 mm Netzteilinstallation A. 68%6-32x6mm TREER répartiteurs fournis.
B screw6-32 x 5mm G GPU Stand B. Schraube 6 - 32x5mm Motherboard-Installation, 3,5-Zoll-Festplatteninstallation B. < —R— P, 3.5HDD#E A Remarque : le ventilateur branché au premier connecteur de ventilateur a 4 broches du répartiteur de ventilateur est le ventilateur W HUE - 37§ A DS EYHOD, 2t ALHR o] W HUE Tt ALLICE O WS 712 HX|5t D TR W AZ2|HE ABSHIAIL
X8 X1 C. Schraube M3 x5 mm 2,5-Zoll-Festplatteninstallation C. 25HDD#EE 9 principal. Ne pas brancher les ventilateurs PWM et les modeéles & 3 broches sur le méme canal. Haoow g2 Eo| © 4747t 9)‘?}1 e %leEfLﬂ:ED@@ Hek PVXME} 3g ﬁgogga}x\ oA, o . 5
© D. Schraube KB5 x 10 mm Lifterinstallation D. ZJKB5x 10mm 77V EHER Remarque : Pour profiter au maximum du systéme de réduction intelligente de bruit du NZXT CAM, vous devez relier le ventilateur de E‘:g grzé;cé\z/;gslloisnﬁi? ‘iacg’iui‘oijaﬁhlgfﬁﬁg%é}‘%?sé%;}aESPEL: WS A0PE YNO| AZSHOF BLICE CPU TS AOLE IR0 Azet
E. Abstandhalter-Schliissel Motherboard-Installation E. RZVFAT LVF Y —R—FEER votre processeur au Smart Device. Dans ce cas, vous devrez désactiver l'avertissement d'absence de ventilateur du processeur dans les o e | = o 2o A i o 'L o o1 e e D ” AEES
. . RGB LED H4E{ - LS Jj2] LED AE 20| #0]A LY0] 7|2 HX|g|of Y&LICE A LED AER]0| Brtof /|8t HUE|S 0| &3] HUE 2 LED AE
F. Kabelbinder Kabelverwaltung F. r—21b21 r—JIVEER =] paramétres BIOS de votre carte mére. iy 0171:‘A = i<l ZE Ol tE = A0 e - S A EE O BLhof| X3 HUHE 0|8 LEEES
. ; T " 3 - - L2 GIZSHUAIR. Aer RGB 2 M ZS GHZsI2{ T S A RGB X 20| X HAASIUAIR.
G. GPU-Stander GPU-Installation G. GPURZVK GPU BRYAS1F lg & D CONNECTEUR LED RGB - Deux bandes LED sont préinstallées dans le boitier. Connectez des bandes LED HUE 2 additionnelles au Hel HUE - MY 23 K0 A0 ADLE EK|, M, LED A0 MUS 22L|CH
H. Kabelpeitsche Front Panel Header fiir alle gangigen nicht-Intel Mainboards H. IL—0T7 =TI MBOF-Panel v # Hinte B TI3 iz LGS connecteur au bout de la bande LED supérieure. Pour connecter des Aer RGB 2, connectez-les directement sur le second canal RGB. A1 PC MLU0| 7K Qs SOt AZASIK| OFAA|2.
1. 3,5 mm Kopfhérer-Audio-Splitter Wandeln Sie einen einzelnen 3,5 Pol-Audioport in zwei 3,5 Pol-Audioports um I 35mmAY Ry bA—FA AT vy IR TUvER  B—035mm 484 —T 14 R—rE2DD3.5mm 3484 —F 17 R— M E# CONNECTEUR D'ALIMENTATION - Branchez & l'alimentation pour alimenter le Smart Device, les ventilateurs et les bandes LED.
C screw M3 x5mm H Breakout Cable Remarque : ne pas brancher lorsque l'ordinateur est sous tension. T7VAFG 5 -3 DDF v XIVRIC 3 DD T 7Y ARG AR BIET BN T 7 ARSI BIIE ASBD T 7V ATy 2 EERLTLEE L,
x16 x1 — SETTVAT) v ADED4A t‘777_23?~7’5‘ DNTZARIT7ATEES BLF v RIUC Wll‘l\ll“77\/t3 l:‘“/7?75:5§&3’d HWTIEELY, L
E%%%’ SMART DEVICE V2 LUFTERANSCHLUSSE - Drei Liifteranschliisse fiir drei Kanale. Weitere Liifter kénnen tiber die im Lieferumfang enthaltenen ; }Négo%g;;E%gﬁ%%ﬁ%giﬁﬁﬁng%m;CPU TPVEAR T AT DREDBUET BT HREIL TR
Sm— = - o . el - BET 7YOVES T BRED .
= A. Vite esagonale 6-32 x 6 mm Installazione dellalimentatore A, AR 6-32x6mm ZRER The Smart Device connects to your PC via a single internal USB 2.0 connector. To enable control of the Smart Device, download Lufter-Splitter angeschlossen werden. i o N o RGB LED 15 - 25MLEDR Uy T\ et h CHBUIFSNTOE T, SEAIDHUE 2 LEDA M 71k, EERLEDR M T DRIEH3 IR EA
B. Vite 6-32 x5 mm Installazione della scheda madre, installazione HDD 3.5 B. 1844 6-32x 5mm 35 WREE, RIS and install NZXT CAM from camwebapp.com. Hinweis: Der erste 4-polige Lifteranschluss am Lifter-Splitter ist der primére Lifter- PWM und 3-polige Lifter dirfen nicht ber UTESEENET, Aer RGB 2 77 A 1<k 2B EDRGBF >/ 7 LIS BEEHLE T,
C. Vite M3 x5 mm Installazione HDD 2.5” C. % M3 x5mm 25 EETE El dispositivo inteligente se conecta a tu PC mediante un Gnico conector USB 2.0 interno. Para activar el control del dispositivo dgnsellb.ennl(anal ko{nf)lmert werden. . . . . . . N . e AR =TI\ AT 7, LED_ZF‘)'lel%iﬁ’iﬂi\ﬂﬁ?'étdx TRICERLTIZEL,
D. Vite KBS x 10 mm Installazione della ventola D. ##£ KBS x 10mm ZENE inteligente, descarga e instala NZXT CAM desde camwebapp.com. :m::ls).e}\:/li‘cr::enrz;f\zleimseire‘ E\?1Zztezn%e;;::lélgirﬁefuﬁtfrs:;:l.,;‘noglsi: g::“glt(')os" Eir:s’\tlezlﬂncgtzn;g;lthjgi::ogfgscdpel:klhtlij\/fiteerrewlt dem M ORI LR TIEE L,
i i E. Chi distanziatori Installazione della scheda mad E. HiERR FiREE i 3 i i i i i élé N . - '
D screw KB5 x 10mm | 3.5mm Headset Audio Jack splitter : Fa;‘;&tg’;er'i:v’i‘z'a o installazione della schada madre e ﬁ%ﬁ = P hez)s(;“g:’\fzz'f:asr:ngg;‘“fceoam"l"“e PC via un seul port USB 2.0 interne. Pour activer le Smart Device, veuillez télécharger RGB-LED-STECKVERBINDER - Im Inneren des Gehéuses sind zwei LED-Streifen vorinstalliert. Verbinden Sie zuséitzliche HUE 2 RS, - = DRSS, - T M - BEFIUMIRR EERIEN AR -
X8 x1 6 s 0 GPU Installazione della GPU 6. GPU %22 GPU Z3= 4@7_ o . . . . LED-Streifen tiber den Verbindungsstecker, der sich auf dem oberen LED-Streifen befindet. Um Aer RGB 2 Liifter zu verbinden, x REAME LS 4 5N 3 ENE - EE—BBIEZRE PWM 3 #H XS -
SMSURROKOL : ateaAonsE el - 3 e = — — Das Smart Device wird (iber den internen USB 2.0-Anschluss mit lhrem PC verbunden. Um die Steuerung des Smart Device zu ie bi i i | E AT EAXEER NZXT CAM fESEE BB RIEIRINAE - MAIZIT CPU RSIEEEISZAEIR & b - IISUEF - MAIZE EARA BIOS REDEMA CPU KB
3 N A A > O 4 ! i ) verwenden Sie bitte direkt den zweiten RGB-Kanal.
H. Cavo multiconnessione Connettore F-Panel per Mainboard non Intel H, 9 FIT SRS AT A MR i aktivieren, einfach NZXT CAM iiber camwebapp.com herunterladen und installieren STROMANSCHLUSS - Schliefien Sie das Netzteil an, um das Smart Device, die Lifter und die LED-Streifen einzuschalten EE .
B - . o B o B A =y A 2y SN == s 3 - - s 3 - . =0 . - ek« B - . | s = s
I. Splitter per jack audio da 3,5 mm Converti singola porta audio da 3,5 mm a 4 poli in due porte audio da 3,5 mma 3 poli 1. 3.5mmE#H SRS AR JF843.5mm 4RSSm0 # R AR 3.5mm 3R E5iR D IL dispositivo intelligente si collega al PC tramite un connettore USB 2.0 singolo interno. Per abilitare il controllo del dispositivo, Hinweis: Nicht anschlieBen, wahrend der PC eingeschaltet ist. RGB LEP 9#%@50&%@%&%57\1 BT T IREBLEDT AR IR E R E EAIMUHUE 2 LEDAT 75 - ZHERAer RGB 2 - 15 EBIEFEISE P RGBEIE
scaricare e installare NZXT CAM da camwebapp.com BiRES, -SRI | AR - AT LED X #iEE -
.com. Nty Psuniepataliig
O dispositivo inteligente se conecta a seu computador por um conector USB 2.0 interno simples. Para habilitar o controle do CONNETTORI VENTOLE - Tre connettori ventole per tre canali. Per fissare le ventole aggiuntive, utilizzare gli splitter ventole inclusi. B BB T
dispositivo inteligente, baixe e instale o NZXT CAM em camwebapp.com. Nota:il primo connettore ventole con 4 pin sullo splitter ventola sara la ventola principale. Non mischiare ventole PWM e ventole a 3 pin N s [ R —— e ——— .
A. Hexagon screw 6-32 x 6mm Power supply installation A. Parafusos hexagonal 6-32 x 6 mm a0 da fonte de ca A. NF8%% 6-32x 6mm ZRER P ¢ o M - nello stesso canale. Az t@lﬁl%}@}f@%ﬁ%,@@}é@fﬁi o Egéﬁ“gﬂmzﬁ "j%ﬁﬁ ﬂEMIm{:ﬁl%ﬁﬁ?%& .
B. S 6-32x5 Motherboard installation, 3.5 hard drive installati B. Paraf 6-32x5 instalacio da p incipal, instalaco da unidade de 3,5" 35 BT, iR WHTennekTyanbHoe ycTpoiicTBo noakioyaetca k MK uepes BHyTperHuit nopt USB 2.0 [1nA ynpasneHna UHTENNEKTyabHbIM YCTPONCTBOM i~ . . o o - . o & BHRELNE—E4 HNEREERRELIEAR - FLER—EEEPERA PWM = 3 $HES
. Screw 6-32 x Smm otherboard installation, 3.5 hard drive installation . Parafusos 6-32 x5 mm insta agao da placa D”nCIPa;'"Sta agao da unidade de 3, B. .5 B fz‘? = sarpyanTe i ycrarosute NZXT CAM c caiita camwebapp.com. Nota: per utilizzare in maniera piu efficace la riduzione del rumore adattiva di NZXT CAM, si consiglia di connettere la ventola CPU al i ZTPBAENNHTEE NZXT CAM 8B TEERIR & CPU S EERSERnE - IBEEEl  LUAEBIR BIOS BEPH CPU
C. Screw M3 x5mm 2.5 hard drive installation C. Parafusos M3x 5 mm instalac@o da unidade de 2,5 C. 25 WIRER of Ante RA|L crol Lpi - o Anhe A% Co el N o dispositivo intelligente. Se si sceglie questa opzione, & necessario disattivare ['avviso relativo alla ventola CPU nelle impostazioni BIOS ARLs -
D. Screw KBS x 10mm Fan installation D. Parafusos KBS x 10 mm instalagao da ventoinha D. ZEAS ot BNE 3 S VP 20 PSS Sol PCOl SFBLICK 20K FASY HOf 215& A SHef Sl camuebapp oA NAXT CAME della scheda madre. RGB LED 457 - THBLEDI B ETAZ R MR - IBBIESILEDBIRISOEETIETSMOHUE 2 EDIE( - £EBHARGB2AS -
E. Standoff wrench Motherboard installation E. Chave para separador instalacdo da placa principal E. = = = = g N s . ) _ N N CONNETTORE LED RGB - Im Inneren des Gehauses sind zwei LED-Streifen vorinstalliert. Verbinden Sie zusatzliche HUE 2 LED-Streifen EE RS ERGRIEE -
F._ Cable tie Cable management F. Bracadeira para cabos Gestao de cabos F AR TSR, PR USB 2.0 255 1 DT PCITHHELE T, AX — b7/ A RZHI T B (I, camwebapp.com 55 NZXT CAM % 4 tiber den Verbindungsstecker, der sich auf dem oberen LED-Streifen befindet. Um Aer RGB 2 Liifter zu verbinden, verwenden Sie bitte g - R EERIERS - REBRE - ABR LED BHHEMMA -
G. GPU stand GPU installation G. Suporte da GPU Instalagao da GPU G G VYA FLTAYVAR— VLTSN direkt den zweiten RGB-Kanal. | WIKERRIRTS - B -
H. Breakout Cable For Non-Intel Standard F_Panel Header Use H. Cabo divisor Para ligacao do painel frontal (F-Panel) em placa-mae padrao Intel H. Jii EREEIREIBT 2 USB 2.0 HOERFITMIHEA - BRZLHEHERE - WM camwebapp.com T #5223 NZXT CAM - CONNETTORE DI ALIMENTAZIONE - Collegare l'alimentazione per accendere il dispositivo intelligente, le ventole e i nastri LED.
I. 3.5mm Headset Audio Jack splitter Convert single 3.5mm 4 poles audio port to two 3.5mm 3 poles audio ports 1. Divisor de jack de audio de 3,5 mm C Gni deaudiod losde3,5 p audio de 3 polos de 3,5 mm I. 3.5mm BE#ERADES HEE{E3.5mm 4B ERAMIABMIES Smm 3BEFRA BEEEHB AR USB 2.0 BEEREEN - £TLHIEEEE - 52 camwebapp.com F#fii %% NZXT CAM - Nota: non effettuare il collegamento se il PC & acceso.


https://www.trovaprezzi.it/Fprezzo_case-alimentatori_nzxt_h210.aspx?utm_source=pdf&utm_medium=referral&utm_campaign=pdf_154
https://www.trovaprezzi.it/prezzi_case-alimentatori.aspx?utm_source=pdf&utm_medium=referral&utm_campaign=pdf_154

CABLE CONNECTIONS

DISCO DE ADMINISTRACION DE CABLES
CONNEXIONS DES CABLES
KABELVERBINDUNGEN

COLLEGAMENTI DEI CAVI

LIGAGOES DE CABOS

NOAKMIOYEHUE KABENEW

BUTTONS AND I/0

BOTONES Y E/S
BOUTONS ET E/S
TASTEN UND E/A
PULSANTI E I/0
BOTOES E E/S

KHOMKW 1 PA3BEMbI BBOOA/BbIBOOA

PANEL REMOVAL

EXTRACCION DE PANEL
RETRAIT DU PANNEAU
BLENDE ENTFERNEN
RIMOZIONE DEL PANNELLO
REMOCAO DOS PAINEIS
CHATWE NAHENN

CABLE MANAGEMENT SYSTEM

SISTEMA DE GESTION DE CABLES
SYSTEME DE CABLAGE
KABELMANAGEMENTSYSTEM

SISTEMA DI GESTIONE DEI CAVI
SISTEMA DE GERENCIAMENTO DE CABOS
CUCTEMA NMPOKNAAKW KABENEN

MOTHERBOARD INSTALLATION

INSTALACION DE LA PLACA BASE
INSTALLATION DE LA CARTE MERE
INSTALLATION DER HAUPTPLATINE
INSTALLAZIONE DELLA SCHEDA MADRE
INSTALACAO DA PLACA PRINCIPAL
YCTAHOBKA CUCTEMHOW MJATbHI

POWER SUPPLY INSTALLATION

INSTALACION DE LA FUENTE DE ALIMENTACION
INSTALLATION DE L’ALIMENTATION
INSTALLATION DER STROMVERSORGUNG
INSTALLAZIONE DELL’ALIMENTATORE
INSTALACAO DA FONTE DE ALIMENTACAO
YCTAHOBKA MCTOYHUKA MUTAHNA

Aols 92 #HE R 1/0 g ®A A0S 2| Al~E o2 E dX] HEsa XA 2K
=7 B REVEBXU 1/0 AEI120): D N0 T—TIWRRIAV VAT L\ RYF—R-—FDEH
o % = B 1/0 T E AR BEEERLR EREE
mEE A 1/0 BIRER BREBARR EHREER
12 345 6
ooeoooc] ° SFX PSU INSTALLATION
gaasees|= *
§§§§§§§ FAN CABLE CHANNEL
3300880
3388338
3338830
3388850
8388830 8-PIN
3388888
I CABLE CHANNEL
3300000
3385258
3358350
1 sissecs
3338338
1. HD Audio Output 1. Uscita audio HD 1. HDA—F1# UNSCREW CAPTIVE THUMB SCREW 3300000
2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C §§§§§§§
3. USB 3.1 Gen1Type-A 3. USB 3.1 Gen1 Type-A 3. USB 3.1 Gen1 Type-A 8800000
4. HDD LED 4. LED HDD 4. HDD LED 5933583
5. Power LED 5. LED alimentazione 5. J\7—LED 8900000
6. Power switch 6. Interruttore d’alimentazione 6. BRAVF §§§§§§§
3383589
1. Salida de audio HD 1. Saida de dudio HD 1. mEERBL Ghieass H °l 3
2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C 9900000 Oy b
FOR INTEL STANDARD F_PANEL HEADER USE FOR NON-INTEL STANDARD F_PANEL HEADER USE 3. USB 3.1 Genl Type-A 3. USB 3.1 Gen1 Type-A 3. USB 3.1 Gen1 Type-A §§§§§§§
4. LED de unidad de disco duro 4. LED do HDD 4. HDD LED 9395839 ° °° -
5. LED de alimentacion 5. LED de alimentacao 5. SBIFLED 8383553 LIl (O] e
6. Interruptor de encendido 6. Interruptor de alimentacao 6. BRAR §§§§§§§ Tl
3388580
1. Sortie audio HD 1. 3ByKoBo¥ Bbixog HD 1. BAESERE §§§§§§§ e
2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C §§§§§§§
3. USB 3.1 Gen1Type-A 3. USB 3.1 Gen1Type-A 3. USB 3.1 Gen1 Type-A 9308000
< 4. Témoin disque dur 4. VIHpUKaTOop »KeCTKoro AncKa 4, HDD LED §§§§§§§
E o 5. Témoin d’alimentation 5. WHavkaTop nutaHua 5. @IRLED 0869589
o 6. Interrupteur marche/arrét 6. Bbikniouatens NUTaHus 6. EIRAE 3333389
=) giaces IMPORTANT!
< . = 3900000 —
1. HD-Audioausgang 1. HD 2C|e £8 0000000 ; .
g 2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C Gl Install the PSU with the fan facing down.
3. USB 3.1 Gen1 Type-A 3. USB 3.1 Genl Type-A ‘
4. Festplatten-LED 4. HDD LED 24-PIN CABLE AND
Z. zz;:secb:;:.t:? g E%j LAEEm 3 SMART DEVICE CABLE CHANNEL
. . T 29
USB3.1 GEN 2 USB 3.1 GEN 1 HD AUDIO PULL TOP OF GLASS PANEL LIFT AND REMOVE PANEL
1. GPU an die Hauptplatine anschlieBen
EXPANSION CARD I NSTALLATION GPU STAN D I NSTALLATION 2. GPU-Stander so positionieren, dass keine Beeintrachtigung der GPU-Lufter vorliegt H DD/SSD I NSTALLATION DIY LIQUI D COOLER SUPPORT
INSTALACION DE LA TARJETA DE EXPANSION INSTALACION DEL SOPORTE DE LA GPU 3. GPU entfernen und GPU-Sténder an Netzteilverkleidung anbringen INSTALACION DE DISCO DURO/SSD HAZLO TU MISMO: SOPORTE PARA REFRIGERADOR LiQUIDO
INSTALLATION DE LA CARTE D’EXTENSION INSTALLATION DU SUPPORT DU GPU 4. GPUerneut an die Hauptplatine anschlieien INSTALLATION DU DISQUE DUR/SSD SUPPORT DE REFROIDISSEMENT LIQUIDE A ASSEMBLER VOUS-MEME
INSTALLATION DER ERWEITERUNGSKARTE INSTALLATION DES GPU-STANDERS 5. GPUmit der Oberkappe des Standers leicht anheben HDD-/SSD-INSTALLATION WASSERKUHLUNG MARKE EIGENBAU
INSTALLAZIONE DELLA SCHEDA D'ESPANSIONE INSTALLAZIONE SUPPORTO GPU 1. Collegare la GPU alla scheda madre INSTALLAZIONE HDD/SSD SUPPORTO PER DISSIPATORE A LIQUIDO FAI-DA-TE
INSTALACAO DA PLACA DE EXPANSAO INSTALACAO DO SUPORTE DA GPU 2. Trovare una posizione in cui si possa collocare il supporto GPU ed accertarsi che questo non interferisca con le INSTALACAO DO HDD/SSD SUPORTE A REFRIGERACAO LIQUIDA DIY
YCTAHOBKA MJATbHl PACILNPEHUA YCTAHOBKA MOACTABKW ANA FPAGUYECKOTO NMPOLIECCOPA ventole della GPU YCTAHOBKA XECTKOTIO AMCKA N SSD-HAKONUTENA NOAAEPXKA CAMOCTOATENbHOM CBOPKW XUAKOCTHOM CUCTEMbI OXJNTAXKAEHNA
ATX PSU INSTALLATION oHE FtE MX GPU AEiE MX| 3. Rimuovere la GPU e collegare il relativo supporto allo strato PSU HDD/SSD & X DIY =44 =22 x| &
WEH—FDES UNSCREW THE INSERTS COVER GPU RZ Y RERWAT S 4. Ricollegare la GPU alla scheda madre HDD/SSD EYW{TiF KB —Z—ZFHEHD DIY
TREZH T GPU 2% % 5. Sollevare la protezione superiore del supporto GPU in modo che sollevi leggermente la GPU HDD/SSD & DIY & 152 H &% 55
mARLER GPU EZE HDD/SSD %% DIY K24
1. Conecte a GPU na placa-mae
2. Encontre um local no qual vocé pode colocar o suporte da GPU e certifique-se de que o suporte da GPU nao interfere
nas ventoinhas da GPU g
3. Remova a GPU e conecte o suporte da GPU no compartimento do PSU
4. Conecte a GPU na placa-mae novamente g
REMOVE SEX PSU BRACKET 5. Levante a tampa superior do suporte da GPU até levantar a GPU levemente d
]
1. YcTaHoBUTe rpaduyeckuii NPoLIeccop Ha MaTePUHCKYIO naaty
2. Haiigute MecTo, Ky/ja MOXHO yCTaHOBWTb NOACTABKY ANA rpadryeckoro npoLeccopa, 1 y6eanTecs, YTo oHa He byaet ®
MeLaTb paboTe BEHTUNATOPOB FPaGUUECKOro NpoLeccopa
3. M3BnekuTe rpadmueckii NpoLIeccop 1 yCTaHoBUTe NOACTaBKY Ha KOXYX 6/0Ka nuTaHms @
e 4. TOBTOPHO yCTaHOBUTE rpaduuecKuii NPOLIECCop Ha MaTEPUHCKYO niaTy
5. MogHymuTe perynaTop BbICOTbI MOACTABKY, YTOObI OHa Cerka NPUMoaHUMana rpaduyeckui npoLeccop
1. GPUS DI R E0f =&LICh
2. GPUATHE S HIX|E = QL= SIXIE H I GPU AFHERL GPU 0| M2 &R 2= FolFL
= . = e The Cable Bar could support up to 150mm tall tube reservoir with M4 screws
3. GPUE | 7{5t GPU ~FHE S PSU H7H0 Z& LT -
4. GPUZ O 5 Cof CHA| ZaLicH The bottom Panel could support D5 or DDC pump mount with M4 screws
5. GPU AEHE 7} GPUZ A% S [H771X| GPU AEHE O ATH7HS 2Lt La barra para cables podria soportar un depésito de tubo de hasta 150 mm de alto con tornillos M4
El panelinferior podria soportar el montaje de una bomba D5 o DDC con tornillos M4
1. Plug the GPU onto the motherboard 1. GPUERF—R— I:LL§ [‘)Aaji? B N . La barre de gestion des cables peut supporter un réservoir d'une hauteur maximale de 150 mm avec des vis M4
2. Find a location where you can place the GPU stand and make sure the GPU stand would not interfere with the GPU fans 2. GPU 77 VOBHEICFH LEVK ST GPU R 2 Y FEEB TEBIBREROET Le panneau inférieur peut supporter un montage de pompe D5 ou DDC avec des vis M4
P Yo, GP VREPSUT 25 RIcELS
3. Remove the GPU and plug the GPU stam_d onto PSU shroud 3. i Pfgégﬁ;?iiii:;;ljz;;;'j FleEladss Die Kabelschiene bietet Platz fiir einen bis zu 150 mm hohen Rohrbehalter mit M4-Schrauben
4. Plug the GPU onto the motherboard again 4. LR GPU e 8 § Die untere Abdeckung bietet Platz fir eine D5- oder DDC-Pumpenhalterung mit M4-Schrauben
5. Raise the GPU stand’s top cap until it slightly lifts the GPU 5. GPUZ R Y R EBOF v v T%51E LFT. GPUED LEFE LIFET L ) . "
La barra dei cavi supporta un serbatoio tubolare alto fino a 150 mm con viti M4
1. Conecta la GPU en la placa base 1. 39 GPU AT Il pannello inferiore supporta il montaggio della pompa D5 o DDC con viti M4
2. Busca una ubicacion en la que puedas colocar el soporte de la GPU y aseglrate de que este no interfiera con los 2. HETME GPU ZRAIE - FHIBIR GPU ZRAETFH GPU R A barra de limpeza pode suportar um reservatério de tubos alto de 150 mm com parafusos M4
INSTALL ATX PSU ventiladores de la GPU 3. B GPU 319 GPU 5B A PSU £ 0O painel inferior pode suportar montagem de bomba D5 ou DDC com parafusos M4
3. Extrae la GPUy conecta el soporte de la GPU en la envoltura PSU 4. BRI GPU IBAEMR Ha kabenbHyto naHenb MOXHO ycTaHaBnMBaTh Tpy6uaTbiil pesepsyap BbICOTOI A0 150 MM € MOMOLLbIO BIUHTOB M4
4. Conecta la GPU en la placa base de nuevo 5. 12/ GPU 222N - EFIBEHMIRFHE GPU Ha HixHIolo NaHenb MOXHO ycTaHaBnmeaTb Hacoc D5 unv DDC ¢ nomolysio BuHToB M4
5. Levanta la tapa superior del soporte de la GPU hasta que suba levemente la GPU 1. %8 GPUE AR 3”01% Hﬁ}f Mé LEAFZ #]CH 150mm %0\QIEE ErE x}mg‘?(agqq
. SHCHI|E S M4 LIAFR D5 = = O ES X|X[& 4= AL T
1. Branchez le GPU sur la carte mére 2. HEIEZH GPU BHNIE - 1BE GPU BEAE T GPU AS Feb o Mé LIALZ D5 DDC | NS =3
. " X . 3. 7T GPU 4T GPU R B BR AL s S =D IWN—=T, MAZXITRELRA150mm OF 1—THKZ VI EXZ BHBHHYET
2. I:;L;\i/lt:i:unrser;irglptsu placer le support du GPU en vous assurant qu'il ne géne pas le fonctionnement des o e Py B R L CGULITIE. Ma X D5 % 7-14 DDC > TEEL (113 BAE B D E T
3. Retirez le GPU et branchez le support du GPU a la coque du bloc d'alimentation 5. 147 GPU EERIRE - EEIREAEMMIT GPU i ?%E%E-Wﬁ\ﬁ M4 822237 57535 150 %*Emtgﬁ
4. Branchez a nouveau le GPU sur la carte mére JEEBEAR AT MU M4 88223755 D5 5 DDC R%2%
5. Soulevez le capot du support du GPU jusqu'a ce qu'il le souléve légérement BRITEE M4 1844 - TILISZISRE 150mm RIEKE

EENERER M4

# - BISZHE D5 5 DDC SREZHHE

FAN AND RADIATOR SUPPORT

COMPATIBILIDAD DE VENTILADORES Y RADIADORES
PRISE EN CHARGE DES RADIATEURS ET VENTILATEURS
LUFTER- UND KUHLER-UNTERSTUTZUNG

SUPPORTO VENTOLE E RADIATORE

SUPORTE PARA VENTOINHA E A RADIADOR
COBMECTUMBIE PAAVATOP N BEHTUNATOP

W gl oetrjofoly XY

W77V BELCZIT—4

NEBMMRRIH

JER=EIY SR

FRONT
2x120mm

REAR
1x120mm
-
. ) ‘V§
TOP >
1x120mm
FRONT
REAR 2x 120mm
1x120mm

HAZARDOUS SUBSTANCES

ABAEMRRTER

REZIR WA - HZR5I
BENE
BEETR £ (Pb)
PCBARIR LTt
S
)
SRS
BRI
R
]
SEREDHE
L RERIR

o

OO0OO0O0O0O00O0O0

RERAGHIESI/T 11364 E LG -

K(Hg)

O

O O0OO0OO0O0OO0O0O0

#(Cd) ANINEE (Cree)

OO0OO0OO0OO0O00OO0O0
OO0OO0O00O00O0O0

2 REXK Bt (PBDE)

ZIREXE (PBB)
O O
o O
O [®]
O O
O [®]
O [®]
O [®]
O [©]
@] O

O: BRZAENREZBERBEHLRM KPS RIYEGB/T 26572MENREBERT -
X: RNZBENREDEZBENE—HEMR NS BBHGB/T 26572EENWREE X -

REBESE A HRY

[RAEMERES
K(Hg)

Bt £ (Pb)
PCBARM LM O
EES

gt

By
BRI
A5
BEREGHE
EERERS

O O0OO0OO0OO0O0O0O0

o

O O0OO0OO0OO0O0O0O0

AT 3l

s
Eif
[a)
o

NfEE (Cre)

O 00000000
OO0OO0OO0OO0OO0OO0OO0O0

i

E2

O O0OO0OO0OO0OO0OO0O0O0

HE1. "#BH0.1 wt%"R “HBH0.01 witk"GERANEZ B2 EBHEN LS E8EEE -

8 REZERBYEZ BN LS BRBHES LS 8E%EE -
HE3. - GIEZARBYERRES -

= (PBB) 2R _REE

REGULATIONS

€ (€&

This personal computer case with the smart device is tested to comply with FCC standard, Australian standard and EU EMC Directive
(2014/30/EV)

CAN ICES-3(B) / NMB-3(B)

This Class B personal computer case with smart device complies with Canadian ICES-003

Cet étui pour ordinateur personnel de classe B avec dispositif intelligent est conforme a la norme NMB-003 du Canada

NZXT GLOBAL WARRANTY POLICY

This NZXT Global Warranty Policy governs the sale of products by NZXT to you.

I.WARRANTY LENGTH

New NZXT Product Warranty Length for Parts

Computer Cases 2 Years

Temperature Meters 2 Years

Fans 2 Years

Lighting 2 Years

Accessories 2 Years

Headset/Headphone 2 Years

Headset/Headphone Storage 2 Years

Mixer 2 Years

Speakers 2 Years

KRAKEN M Coolers 3 Years

Motherboards 4 Years

HALEQ0 Power Supply 5 Years

KRAKEN Coolers 6 Years
Refurbished NZXT Product Warranty Length for Parts

AlLNZXT Certified Refurbished Products 1Years

Any replacement product will be covered under warranty for the remainder of the warranty period or thirty days, whichever is
longer. Proof of purchase is required for warranty service.

1. WHO IS PROTECTED
The Warranty covers only NZXT products purchased by the original consumer.

I1II. WHAT IS AND IS NOT COVERED

Please note that our warranty is not an unconditional guarantee. If the product, in NZXT's reasonable opinion, malfunctions
within the warranty period, NZXT will provide you at its sole discretion with a repaired or replacement product, either new or
refurbished, with a similar function that is equal or greater in value depending on supply. Our warranty does not cover the
following:

any product or serial number/warranty sticker modification applied without permission from NZXT;

any damage that is not a manufacturing defect;

damage, deterioration or malfunction resulting from: accident, abuse, misuse, neglect, fire, water, lightning, or other acts of
nature, unauthorized product modification or failure to follow instructions included with the product;

improper installation, unauthorised alterations or modifications, or repair or attempted repair by

anyone not authorized by NZXT;

shipping or transport damage (claims must be made with the carrier); and

normal wear and tear.

NZXT does not warrant that this product will meet your requirements. It is your responsibility to determine the suitability of this
product for your purpose. For NZXT Store orders, we cover two way return shipping for all exchanges and returns. For all other
authorized dealers, NZXT Support does not cover return shipping and only covers one way shipping from NZXT back to the end
user for exchanges. Two way expedited shipping is provided for all PSUs covered under the Less Than Three program,
indiscriminate of purchase location, provided the location is an approved NZXT reseller.

IV. EXCLUSION OF DAMAGES (DISCLAIMER)

NZXT's sole obligation and liability under this warranty is limited to the repair or replacement of a defective product with either
a new or refurbished product with a similar function that is equal or greater in value at our option. NZXT shall not, in any event,
be liable for any incidental or consequential damage, including but not limited to damages resulting from interruption of service
and loss of data, business, or for liability in tort relating to this product or resulting from its use or possession.

V. LIMITATIONS OF IMPLIED WARRANTIES
There are no other warranties, expressed or implied, including but not limited to those of merchantability or fitness for a
particular purpose. The duration of implied warranties is limited to the warranty length specified in Paragraph I.

VI.TO OBTAIN TECHNICAL SUPPORT
If you have already referenced your product owner's manual and still need help, you may contact us by phone at +1 (800)
228-9395, by email at service@nzxt.com, or visit the NZXT Support site at https:/www.nzxt.com/customer-support.

VIII. APPLICABLE LAW AND ADDITIONAL LEGAL RIGHTS FOR CONSUMERS

This warranty gives you specific legal rights. These conditions are governed and construed in accordance with the laws of
California (with exception of its conflict of law provisions), and the application of the United Nations Convention of
Contracts for the International Sale of Goods is expressly excluded. The non-exclusive jurisdiction of the courts of
California is agreed, which means that you may bring a claim to enforce your consumer protection rights in connection with
this Global Warranty in the country which you have your habitual residence where you may have additional rights. These
rights may vary.

For original consumers who are covered by consumer protection laws or regulations in their country, state, or province of
purchase or, if different, their country, state, or province of residence, the benefits conferred by this warranty are in addition
to all rights and remedies conveyed by such consumer protection laws and regulations. To the extent that liability under
such consumer laws can be limited, NZXT’s liability is limited, and its sole option, to repair or replacement, either new or
refurbished, with a similar function that is equal or greater in value depending on supply.

VIII. APPLICABLE LAW AND ADDITIONAL LEGAL RIGHTS FOR CONSUMERS

This warranty gives you specific legal rights. These conditions are governed and construed in accordance with the laws of
California (with exception of its conflict of law provisions), and the application of the United Nations Convention of
Contracts for the International Sale of Goods is expressly excluded. The non-exclusive jurisdiction of the courts of
California is agreed, which means that you may bring a claim to enforce your consumer protection rights in connection with
this Global Warranty in the country which you have your habitual residence where you may have additional rights. These
rights may vary.

For original consumers who are covered by consumer protection laws or regulations in their country, state, or province of
purchase or, if different, their country, state, or province of residence, the benefits conferred by this warranty are in addition
to all rights and remedies conveyed by such consumer protection laws and regulations. To the extent that liability under
such consumer laws can be limited, NZXT’s liability is limited, and its sole option, to repair or replacement, either new or
refurbished, with a similar function that is equal or greater in value depending on supply.

In the United Kingdom:
« For NZXT products sold to customers in the UK, during the expected lifespan of your product your legal rights entitle you
to the following:

> Up to 30 days: if your goods are faulty, then you can get an immediate refund.
> Up to six months: if your goods can't be repaired or replaced, then you're entitled to a full refund, in most cases.
> Up to six years: if your goods do not last a reasonable length of time you may be entitled to some money back.

« If the person seeking to rely on the guarantee is not the original consumer, the NZXT Warranty will cover the product in
relation to that person provided that they are able to provide proof of the transfer of the benefit of the guarantee from the
original consumer.

+ The implied warranties under the Consumer Rights Act 2015 says that your goods must be as described, fit for all
purposes for which such goods are usually supplied, and of satisfactory quality.
In the EU:

« If you are a consumer and have your habitual residence in the EU, you additionally enjoy the protection afforded to you by
provisions that cannot be derogated from by agreement by virtue of the law where you have your habitual residence.

IX. WARRANTY SERVICE FROM RESELLERS
In the event that a warranty service is sought, you must provide proof of purchase (store receipt or invoice) in order to
receive the service and if deemed necessary, repair or replacement product.

In North America:

Within the first 60 days after purchase, please return your product (or for power supplies installed within our enclosures, just the
failed power supply) to your dealer or reseller for a replacement. If the product is still within warranty and you can no longer
return it to your dealer, please contact NZXT Customer Support (see above) for assistance and instructions. NZXT will not accept
returns without prior approval and an RMA number.

In Europe:

Within the first year after purchase, please return your product (or for power supplies installed within our enclosures, just the
failed power supply) to your dealer or reseller for a replacement. If the product is still within warranty and you can no longer
return it to your dealer, please contact NZXT Customer Support (see above) for assistance and instructions. NZXT will not accept
returns without prior approval.

In Australasia:

Within the first two years after purchase, please return your product (or for power supplies installed within our enclosures, just
the failed power supply) to your dealer or reseller for a replacement. If the product is still within warranty and you can no longer
return it to your dealer, please contact NZXT Customer Support (see above) for assistance and instructions. NZXT will not accept
returns without prior approval.

The cost of shipping will be borne at the first instance by you; however, if the purchased item is defective, NZXT will reimburse
reasonable postage or transportation of costs.

Outside North America, Europe, and Australasia:
If your product needs to be returned within the warranty period, please contact the retailer or distributor from whom you
purchased the product.

X.NZXT.COM STORE RETURNS/EXCHANGE POLICY

Eligible products under this NZXT Warranty qualify for a full refund or exchange only with an authorized RMA number and if the
item is returned to the NZXT.com store inventory within 30 days of purchase. Returns are not allowed beyond 30 days of the
purchase date. The NZXT.com Store reserves the right to deny any return or exchange. Refunds will be credited to the original
method of payment. To initiate a return, simply submit a request via NZXT support site.

e Visit nzxt.com/warranty and support.nzxt.com for information on warranty coverage and service

® Visite el sitio Web nzxt.com/warranty y support.nzxt.com para obtener informacion sobre la cobertura y el servicio de la garantia
Visitez nzxt.com/warranty et support.nzxt.com pour les informations de la couverture de la garantie et du service

Informationen zu Geltungsbereich und Service der Garantie finden Sie unter support.nzxt.com und nzxt.com/warranty

Visitare il sito nzxt.com/warranty e support.nzxt.com per informazioni sulla copertura e sul servizio della garanzia
Visite nzxt.com/warranty e support.nzxt.com para obter informagoes sobre a cobertura da garantia e assisténcia

Moapo6Hyio nHdopmaumio 06 yCnoBUAX rapaHTUIAHOTO 06CNYKIBAHUA CM. Ha Beb-caliTe nzxt.com/warranty u support.nzxt.com
HE 25 Helet MH|A FEE =QI5kA|2{ T http://nzxt.com/warranty S http://support.nzxt.com € H&8 FA|7| BHEFLICH
AREEHEE S & U — EXITET 21OV TIEL support.nzxt.comé nzxt.com/wanantylc 77 £ A LT fEEW
E#51 nzxt.com/warranty #1 support.nzxt.com 7 #RIEEEAMBHZHER

&AM nzxt.com/warranty 1 support.nzxt.com 7 B E mREHEMEZRENS

SUPPORT AND SERVICE

Support and service

If you have any questions or problems with the NZXT product you purchased, please don’t hesitate to contact us using our
support system. support.nzxt.com

Please include a detailed explanation of your problem and your proof of purchase. For comments and suggestions, you can
e-mail our design team, designer@nzxt.com. Lastly we would like to thank you for your support by purchasing this product.
For more information about NZXT, please visit us online. NZXT Website: nzxt.com

Soporte y servicio

Si tiene preguntas o problemas con el producto NZXT que usted compré, no dure en ponerse en contacto con service@nzxt.com
y suministrar una explicacion detallada de su problema asi como su prueba de compra. Puede hacer consultas sobre piezas de
repuesto en support.nzxt.com. Para comentarios y sugerencias, escriba un mensaje de correo electrénico a nuestro equipo de
disefio: designer@nzxt.com. Gracias por comprar un producto NZXT. Para mas informacion acerca de NZXT, visitenos en linea.
Pagina web de NZXT: nzxt.com

Support et service

Sivous avez des questions ou des problémes avec le produit NZXT que vous avez acheté, n’hésitez pas a contacter
service@nzxt.com avec une description détaillée de votre probléme et votre preuve d’achat. Vous pouvez aussi commander des
piéces de remplacement auprés support.nzxt.com. Pour les commentaires et les suggestions, envoyez un email a notre équipe
de design, designer@nzxt.com. Merci d'avoir acheté ce produit de NZXT. Pour plus d'informations sur NZXT, visitez notre site
Web. Site Web de NZXT : nzxt.com

Kundendienst und service

Falls Fragen oder Probleme beziiglich lhres NZXT-Produktes auftreten, wenden Sie sich bitte mit einer detaillierten
Problembeschreibung und Ihrem Kaufbeleg an service@nzxt.com. Ersatzteile konnen Sie unter support.nzxt.com anfragen.
Kommentare und Anregungen senden Sie bitte per designer@nzxt.com an unser Designteam. Vielen Dank, dass Sie ein
NZXT-Produkt erworben haben. Weitere Informationen tiber NZXT erhalten Sie im Internet. NZXT-Webseite: nzxt.com

Assistenza e servizio

In caso di dubbi o problemi con il prodotto NZXT acquistato, non esitate a contattarci utilizzando il nostro sistema di assistenza.
support.nzxt.com

Includere una spiegazione dettagliata del problema e la prova di acquisto. Per commenti e suggerimenti, siete pregati di inviare
un messaggio al nostro team di progettisti, all'indirizzo: designer@nzxt.com. Infine, vogliamo ringraziarvi del vostro supporto con
l'acquisto di questo prodotto. Per altre informazioni su NZXT, visitate il nostro sito. Sito NZXT: nzxt.com

Assisténcia e manutencao

Caso tenha questdes ou problemas com o produto NZXT adquirido, nao hesite em contactar-nos através do endereco
service@nzxt.com fornecendo a explicacao detalhada do seu problema e a prova de compra. Podera solicitar pecas de
substituicdo através do endereco support.nzxt.com. Para comentarios e sugestdes, contacte a nossa equipa de design através
do endereco de e-mail, designer@nzxt.com. Obrigado por ter adquirido um produto NZXT. Para mais informagdes acerca da
NZXT, visite-nos online. Web site da NZXT: nzxt.com

Cnyx6a noaaepXKn n o6cnyKnsaHna

B cyyae BO3HVKHOBEHA BOMPOCOB WU HENCMPABHOCTE B NprobpeTeHHbIX Bamu npofykTtax NZXT obpatuaiTecs no appecy: service@nzxt.com ¢
NoAPO6HbIM OnMcaH1eM NpPobembl 1 NOATBEPMKAEHEM NOKYNKW. O HAMUMK 3aM4yacTen MOXHO y3HaTb, 06paTVBLUMCH MO appecy: support.nzxt.com.
3; nr HNA /Te B appec Hallel rpynnbl paspabotunkos: designer@nzxt.com. bnarogapum ac 3a nokyrky npopykra NZXT.
bonee noppo6Has nHpopmaLms o komnarum NZXT npeacTaBneHa Ha Halwmx Beb-calitax. Be6-caint NZXT: nzxt.com

X S M~
TP NZXT X Z2p 2h2toto] A2 £= 2RIt S B2, YA XY A~ (supportnzxt.com) S ARESHO] 22|5HYAIL.
ZHE M3 7|25t 70 SYS MESHIAIR. oA E= HOH AR0| QS B2 A M7 EO| designer@nzxt.come 2

O FALE SRSl FHA ZAIZLICH NZXTO| CHol XbAIS| 2e{B 2efelez

o
=
1o
o
i
=
IS
>
to
E
>
I}
10
tu
K=}
=
o
o
&
0
o

2 EHAA| Q. NZXT 2 ALO| E: nzxt.com

HR—PHLUH—ER
BEAENE LINZXTORRICEIY 2 CERIE fol R, REOF S S UBADIERZRA T, TEEkE < service@nzxtcom®E T
g fEEW, BRI supportnzxt.comF THBRFEEL, TERBLUTREIZEMRETF — L. designer@nzxt.com & T *
—IVERELTLEE L, NIXTRRE CHEAVEEE L THYNESTEVET, NIXTICET Z5Eld. 1> 2—% v b LDz T
YA b ETECLEL, NZXT 7 744 bnzxtcom

XFARS

MRBEERO L EEER NZXT R R P BEIET 0, WD 4E service@nzxt.com BXAERTIBIR R T BRI MR AR MWL
IE - BT LA[E) support.nzxt.com BWEREH - MAEAENLEIW WDRERINCIR U ERA, B FibFiti it 2 designer@nzxt.com -
USRI NZXT 760 « AR NZXT WESER, HEHRHAINELMIE - NZXT Wik © nzxt.com

XEMRE

MRAEHANZXT ERABIRPABITI BRI - B0 service@nzxt.com -

3518 support.nzxt.com S EIREH - MARTERAEE - BUDREHREEEHE designer@nzxt.com * &% -
NZXT Efm - BRI NZXT WESER - AAHRFEME0MNE - NZXT 415 : nzxt.com

nzxt.com NZXT, Inc.

For more building tips and information, visit: blog.nzxt.com 13164 E Temple Ave, City of Industry, CA 91746, USA
NZXT Europe GmbH

Industieiring Ost 66 47906 Kempen Germany



